
GOLSLAYERi



1

Assembling  Instruction
ATTENTION: Do not tighten the screws until all of them are in right
positions
  1.Please check the manual carefully and make sure you have receive all
the parts.
  2.If there is any missing, please let us know the letter of the parts you
need.
  3.If there is any damage, please send clear photos to us, we will check
and offer you  best solution soon.



2

A
B

C
B

A

D
E

F

G

H

G

J

K

L

M

N N

P



3

2  *  2
M6*30

3  *11
M6*25

4  *15
M6*10

5  *4
M6*40

6  *6

A *2 B *2 C *1 D *1 E *1

F *1 G *2 H *1 K *1

L *1 M *1 N *2 P *1

J *1

1  *  8
M6*40



4

1

3

2

4

5  *4

4  *5 3 *11

1  *8

D E
H

J

K

L

4
4

4 4
4

C

3

AA

3 3 3
3 3

3
3 3

3
3

B B

5

5 5

5

1

N N1

1
1

1
1

1

1



5

5

7

6

8
2  *2 6  *6

4  *4 4  * 4

F
22

6
6

6 6

6

6

G

G

M

4

4

4
4

4 4

x2



6

P

4  *2

4
4

9



7

P

4  *2

4
4

9



8

5

7

6

8
2  *2 6  *6

4  *4 4  * 4

F
22

6
6

6 6

6

6

G

G

M

4

4

4
4

4 4

x2



9

1

3

2

4

5  *4

4  *5 3 *11

1  *8

D E
H

J

K

L

4
4

4 4
4

C

3

AA

3 3 3
3 3

3
3 3

3
3

B B

5

5 5

5

1

N N1

1
1

1
1

1

1



10

2  *  2
M6*30

3  *11
M6*25

4  *15
M6*10

5  *4
M6*40

6  *6

L *1 1  *  8
M6*401 *ف

 

ن* 2  م* 1 

ج* 1 د* 1 ه* 1  أ* 2 ب* 2 

ي* 1 ك* 1 ح* 1 

 

 F *1ز* 2



11

A
B

C
B

A

D
E

F

G

H

G

J

K

L

M

N N

P



12

 تجمیعالتعلیمات
  

 � تشد المسامیر اللولبیة حتى تصبح جمیعھا في المواضع الصحیحة:تنبیھ
 .ءیرجىالتحقق من الدلیل بعنایة والتأكد من است�م جمیع ا�جزا1.
 .التي تحتاجھا ءفیرجى إخبارنا بحرف ا�جزا، إذاكان ھناك أي مفقود 2.

 وسوف نتحقق ونقدم لك، یرجى إرسال صور واضحة لنا ، إذاكان ھناك أي ضرر 3.
 ً.ابیرق لولحلالضفأ



GOLSLAYERi


